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QUESTION 1

An administrator needs to provide access to applications for users regardless of whether the users have network
access. 

Which two VMware components should the administrator choose? (Choose two.) 

A. VMware Workspace 

B. VMware ThinApp 

C. VMware Horizon View 

D. VMware Mirage 

Correct Answer: BD 

 

QUESTION 2

Which storage component is considered only when calculating capacity for a Linked Clone? 

A. Growth 

B. .vswp 

C. Overhead 

D. User Data 

Correct Answer: A 

 

QUESTION 3

Which two settings are required to prevent RDP access to a group of View desktops? (Choose two.) 

A. Disable AllowDirectRDP. 

B. Enable AllowDirectRDP. 

C. Select the Pool Settings tab and select PCoIP as the default display protocol. 

D. Select the Pool Settings tab and disable RDP as a possible display protocol. 

Correct Answer: AC 

 

QUESTION 4

What must the administrator do next to fulfill the stated requirements? 
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An administrator has built a Centralized Virtual Desktop (CVD) using the Mirage default CVD policy, but finds that the D.
drive on all users\\' machines are not centralized correctly. 

Which changes should the administrator make to include the additional volume? 

A. Create a new Upload policy that includes the D. drive in backup and restore. 

B. Add a Protected Volume in the Upload policy. 

C. Modify the CVD to include all system drives. 

D. Add %ANYVOLUME% to the User Area of the Upload policy. 

Correct Answer: B 

 

QUESTION 5

An administrator needs to create 1000 virtual machines with minimal shared disk space. Additionally, the administrator
needs to be able to update the images while ensuring that the users\\' information is managed in a central location.
Which VMware components should be used to meet the requirements? 

A. VMware Horizon View with Persona Management 

B. VMware Horizon View with vSphere Data Protection 

C. VMware Workspace with vSphere Data Protection 

D. VMware Workspace with Persona Management 

Correct Answer: A 
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